



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at [wvOASIS.gov](http://wvOASIS.gov). As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at [WVPurchasing.gov](http://WVPurchasing.gov) with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header @ 1

List View

**General Information** | [Contact](#) | [Default Values](#) | [Discount](#) | [Document Information](#) | [Clarification Request](#)

Procurement Folder: 1896815

Procurement Type: Central Purchase Order

Vendor ID: VS0000050163

Legal Name: Graff Solutions, LLC

Alias/DBA: Green Monkey Promotions

Total Bid: \$16,742.75

Response Date: 03/10/2026

Response Time: 8:59

Responded By User ID: Greenmonkey

First Name: Steven

Last Name: Graff

Email: steve@greenmonkeyprom

Phone: 9034520499

SO Doc Code: CRFQ

SO Dept: 0313

SO Doc ID: DEP2600000026

Published Date: 3/3/26

Close Date: 3/10/26

Close Time: 13:30

Status: Closed

Solicitation Description: REAP / AAH Promotional Items

Total of Header Attachments: 1

Total of All Attachments: 1



Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Backpack Coolers	20.00000	EA	11.870000	237.40

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Backpack Coolers  
per section 3.1.1 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Crossland Camp Chairs, or equal	20.00000	EA		

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:** I don't have a source for this small of a quantity.

**Extended Description:**

Crossland Camp Chairs, or equal  
per section 3.1.2 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Oversize Beach Towels	20.00000	EA	8.990000	179.80

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Oversize Beach Towels  
per section 3.1.3 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Recycled Blend Totes	50.00000	EA	4.180000	209.00

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Recycled Blend Totes  
per section 3.1.4 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	60" Sport Umbrella	20.00000	EA	10.990000	219.80

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:****Extended Description:**

60" Sport Umbrella  
per section 3.1.5 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Outdoor Essentials Kit	50.00000	EA		

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:** I don't have a source for this small of a quantity.

**Extended Description:**

Outdoor Essentials Kit  
per section 3.1.6 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Bamboo Cutting Boards	20.00000	EA		

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:** I don't have a source for this small of a quantity.

**Extended Description:**

Bamboo Cutting Boards  
per section 3.1.7 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	First Aid Kit	2750.0000	EA	2.320000	6380.00

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:****Extended Description:**

First Aid Kit  
per section 3.1.8 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	3-in-1 Cable Charger and Pouch	1750.0000	EA	3.830000	6702.50

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:****Extended Description:**

3-in-1 Cable Charger and Pouch  
per section 3.1.9 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Eco-friendly Sticker Books, or equal	1000.0000	EA		

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:** I don't have a good source for these.

**Extended Description:**

Eco-friendly Sticker Books, or equal  
per section 3.1.10 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Four (4) Pack Soy Crayons	1500.0000	EA	0.990000	1485.00

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Four (4) Pack Soy Crayons  
per section 3.1.11 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Recycled Mood Pencils with matching eraser	2000.0000	EA	0.300000	600.00

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Recycled Mood Pencils with matching eraser  
per section 3.1.12 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	License Plate Frame	100.00000	EA	2.780000	278.00

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

License Plate Frame  
per section 3.1.13 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Handy Breeze Fan and Flashlight	50.00000	EA	4.690000	234.50

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Handy Breeze Fan and Flashlight  
per section 3.1.14 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Inspired Notebook with Pen	75.00000	EA	2.890000	216.75

Comm Code	Manufacturer	Specification	Model #
80141605			

**Commodity Line Comments:**

**Extended Description:**

Inspired Notebook with Pen  
per section 3.1.15 of the attached specifications



202-205-8800 | [sba.gov](https://sba.gov)  
409 3rd St, SW. Washington DC 20416

April 20, 2023

GRAFF SOLUTIONS, LLC  
SAM UEI: Q1J7YJ9QFJ43  
5446 GILMER RD  
LONGVIEW, TX 75604

Dear GRAFF SOLUTIONS, LLC:

I am writing to inform you that GRAFF SOLUTIONS, LLC has been certified by the Veteran Small Business Certification Program (VetCert) at SBA. Your certification confirms your eligibility to compete for set-aside contracting opportunities, as well as other benefits, as a Service-Disabled Veteran-Owned Small Business (SDVOSB).

**What you need to know:**

- GRAFF SOLUTIONS, LLC is certified as a Service-Disabled Veteran-Owned Small Business (SDVOSB) and publicly listed at [veterans.certify.sba.gov](https://veterans.certify.sba.gov).
- Your certification is valid for three (3) years from the date of this letter.
- You may visit [SBA's website to download SBA-approved digital icons](https://sba.gov) that indicate your certification status.
- SBA may conduct a program examination at your office or work site during your certification period to verify the accuracy of your certification.
- You may apply for recertification 120 days prior to your expiration date by logging in to your Veteran Small Business Certification profile.

**What to do if your business changes:**

You must inform SBA of any changes to the business that could affect its eligibility for the program, such as:

- a closure
- a change to the firm's ownership, business structure, or control
- filing of a bankruptcy
- a change in a Veteran-owner's active duty status

You can inform SBA of changes through the VetCert website at [veterans.certify.sba.gov](https://veterans.certify.sba.gov). Failure to report eligibility changes within 30 days of the change could result in:

- Civil and criminal penalties
- A referral to the Debarment and Suspension Committee
- Decertification and removal from the Veteran Small Business Certification Program

Please keep a copy of this letter to confirm GRAFF SOLUTIONS, LLC's continued program eligibility. Thank you for your service to our country and for continuing to serve the United States through small business ownership.

Sincerely,

*John B. Perkins*

John B. Perkins  
Director Veteran Small Business Certification Program



*All SBA programs and services are extended to the public on a nondiscriminatory basis.*